2030 0000000000000 0000O0 DL D D III 2013.06.14

0000000000000 000000000000U=cNRT=cPVOO0OUOO (NODUOOOORO
0000)00000oooooooo

TC
ﬂﬂKAU—ﬂ%J@N):NRm< V)

TEV,
000000000000000

InnI-1o0o0oobobobooboboboboobobooobo
ooooooog

(T;, i, N) = (Tt, Vi, N),  U(L;, Vi, N) =U(Tt, Vi, N), Vi<W
0000000000000000000000000

Inm-20 r-10ogdoobobobobobobobobob
ooo 000000000 SOOOOUDLOOOOODOLODOODOOLODOOOOObOOOODDOO
gooooboooogoobobobooooobbo MOODOOOODOOOUODOODOODODOOD
oooo0o0ooo0ooooo0oo P00 V,00 OUO0O0O0O (DOODDO0O AOOO)DOOOO

D000000000000000000000000000000000000000000000
D00000000000000BODO00000000000000000 =R 0000000
poooooo v, 7Y 0000000 A0DBOOOOOOOOOOOOOOOOO0OO0

M-3000000000000000(0000000)

00 (6/130 100)0000000000000000000000000000000000000
0000000000 A, BOOOOOOOOOOOOO
A,BOOOOOOOOOOOOOOOOOOOOOOOOO0O0O0O000000000000000 AB
000000000000000000000000 (74,V;,N;) (j=A,B)0000000 Ty #Ts0
000000000000000000000000000000000AO0BOOOOOOOOOOO
D00000000 (000000000000 00000)JA, BOODOOODOOO CaA(T), Ca(T)
0000000000000 0000000000000000000000000000000

m1-4000000000000(000O00ODODOOOOOOOOOn)
00 (6/130 100)0000000000000OO0OO0O0OOOOOO0OOOOOOOOOOOOOOO
Oooo0oooooo0oooooooO0oooooOoooO0oooooOOooOOooooobooOoOoooDoO ASs
ubboobuoobbooboobboobooobo

III-s000000o0ogoo0oboooo0obooobooooooobobooooDo
OO0 (6/06 0 090 )0 0000000000000 NOO00O0O0O0O0O0O0O0OOOOOOOOOOO
OO000000O000DOOC00DO00OO000O00O00O00DCamotd00O00O0OOO0OOOOOO
ooooooooooooooo (L,V)ooooo (T, V) 00oooooooo0ooooooooo
ubbooboobboobboobuoobbooboobob jbo0oboobooboboobbooboo
oooobooo (7;,V;)000000000000 (7,V,;,) 000000000000000000



¢; =Q;/7;,000000000000000000000000O000O000O0 (73,V,)00000 (T, V)
uboboobooboboobooboobooboo

Z%‘ (1)
J

00000(T,WO0000000 (Twa(V),V)0 T=T:0000000000 (T, V0000 ¥,4q
gogoogoogno
(I;, V*) = (Tt, V)

OOo0oDOOoOoboo0o0obboOouD Carnot 0O OO0O0DOOOOOOOOOOODOOODOODOOOOO
00000000000 (T3,V;1), (13,V;2) 00000000000000D000000

0Doo
(Tj1,V;1) 0000000 (Twa(V),V)0 T=T:0000000000 (T, V)OO OO(T, V)00
00000 (Tw(V),V)O T=T;0000000000 (T, V*)0O0DO v:=vWoooo
l. ;000000000
(T3, VW) = (T;, vUHY)

ubobooobogbooboo q}DDDDDDD Carnot 0 O0OO0OOOODOO

) ) v (E+1)
Trgy = U(Ty, VU)) U1, V) + | P(T3 V)V
\%4€;
g
Z qj = Z 4
J J
g
1 Vi
T (U(Tfa va) - U(va V*) + P(va V/)dvl>
Tt v
gooog

InMl-e 00 0D00OD0OD0 IIODOOoOI00oOd
ublnoooogloobooboooon

gbobooboboobooaobbooboan

googobooboobooooo

DDDDS(T,V)_S(TO,V):/TW

dr’ 2
= ©



oooooo
00000 (T,V)— (T;,V)00000000000000

/HCWTJQM”

T T
0D0000000000000 7 <T;000000000000000000000000000 [13, Ty

ogooooon
Ti=Ty<Th<Ty - <Th1<T,="1T}

00000000 {T}7,0000,=[1,n]00000(7—,V)00000000 (7;,V)00000
oooooo (73,V;) 0000

00 (7,v)000000 (T;,V)000000000000000
0000000 (Tj_,V) — (T;,V;) 0000000000 (T},V;) — (1;,V)00000 (00 500
0)0;=1,2,30000000000000000

os00o0nooooooon QjD
v ! ! ! !
Q) = UL V) = U V) + [ (P V) = PV T3 V5), V) 4V (3)
J

0000000 TV, T;,v;) 0 (1;,V;) 0000000000 vVOooooooooooooooo
00000000 gt U

Q; U(T;, V) = U(Ts_1,V 1
o= Y0 = L R >+;Tj(

J

/ " (PTV) - PTa(V5T, ), V) dV’)

000T; =T+ jAT, AT = (T; — T3)/n 0000

1.

. _ . T; /
n—00 4= T] T T’
J
oooQ
2. Lo
lim Y o [ (P V) = P(La(Vi T, V) V) 4V =0 (6)

ugoog



